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Content Summary and Answer Key

Question ltem Content Content Answer Points
No. Type Strand Standard Key
Quote accurately from a text
Multiple Key Ideas and when exp_la_lnlng what the text _
1 : . says explicitly and when C 1 point
Choice Det ails o
drawing inferences from the
text.
Quote accurately from a text
Multi - when explaining what the text
Key ldeas and . .
2 Select . says explicitly and w hen D, E 1 point
Details R
Item drawing inferences from the
text.
. Determine two or more main
Multi - Key Ideas and ideas of a text and explain how
3 Select y? P C,E 1 point
Details they are supported by key
Item . .
details; summarize the text.
Determine the meaning of
Multiple Craft and genergl acade_njlc and .
4 : domain -specific words and A 1 point
Choice Structure .
phrases in a text relevant to a
grade 5 topic or subject area.
Determine or clarify the
meaning of unknown and
Multiple multiple -meaning words and
5 Choi(?e Vocabulary phrases based on grade 5 C 1 point

reading and content, choosing
flexibly from a range of
strategies.
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Question ltem Content Content Answer Points
No. Type Strand Standard Key
Explain the relationships or
interactions between two or
Multiple Key Ideas and more individ_uals, gveqts, ideas, _
6 : . or concepts in a historical, D 1 point
Choice Details o )
scientific, or technical text based
on specific information in the
text.
Compare and contrast the
overall structure (e.qg.,
7 Multiple Crafta nd chronology, comparison, c 1 point
Choice Structure cause/effect, problem/solution)
of events, ideas, concepts, or
information in two or more texts.
Write informative/explanatory
Extended . texts to examine a topic and .
8 Expository . . . 10 points
Response convey ideas and information
clearly.
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Passage 1: Clock Watching
y Sara F. Shacter

Thousands of years ago. people didn’t care what time it was. They spent most of their days hunting and gathering food. A schedule would have
been silly: “nine o'clock. hunt; ten o’clock. gather.”

But to survive, our ancestors did need to keep track of day. night, and seasons. They looked to the sun. moon, and stars for signs of these cycles
in nature.

Half Past the Candle

Eventually. people leamed that the sun could also be used to measure hours in a day. About 4.000 years ago. somebody shoved a stick in the
ground and made a neat discovery: the stick’s shadow moved as the sun's position in the sky changed from sunup to sundown. People in ancient
Egypt. Greece, and China made shadow clocks. or sundials, in all shapes and sizes.

But sundials weren't perfect. At night, or on cloudy days. they didn’t work. So how did people tell time when there was no sunlight? Clocks
made of candles, o1l lamps, and incense sticks worked just fine without the sun, measuring the time in which a certain amount of wax, oil, or
incense burned. Water clocks were popular. too. dripping the minutes away. leaving less water in a vessel as time passed.

However, there was a problem with clocks that burned and dripped: they only showed how much time had passed. Suppose a friend said. “T'll
meet you when half a candle melts.” To be on time. you'd both have to have the same size candle and light them together.

As towns and cities grew: travel and trade between countries increased. There were lots of new jobs to do. and people needed to be in the
same place at the same time to get them done. The old clocks were no longer good enough. since they didn’t let everyone share the correct time of
day.

Excerpt from "Clock Watching” by Sara F.
Shacter, from Ask! Copyright @ 2009 bé Carus
Publishing. Reprinted ¥Eermlss:on of Carus
Publishing via Copyright Clearance Center.




Passage 2: Telling Time and
Location With the Sun
by Kathleen M. Reilly

7 Although ancient people believed the sun revolved around the earth, we now understand 1t’s the other way around. Early explorers knew
Earth’s rotation on its axis and revolving path around the sun could grve them a pretty accurate way of knowing the time and their location.

8 The earth 1s always in motion around the sun. turning on its axis and revolving in its orbit around the sun. Therefore, any shadows the sun
casts upon the ground are going to change over the course of a day and throughout the vear. Just poking a stick mto the ground and examining

its shadow can’t give you an accurate time of day. The first sundials that were accurate used an angled piece of wood to account for the
curvature of the earth. The shadow fell onto a chart that marked the hours of the day.

9 Even without a sundial. you can get a pretty good estimate of what time it 1s by using the sun’s position:

10 Find the position of the sun. And be careful, all those warnings your mom has given about not looking directly at the sun are true.
Studies have found that your eyes can sustain damage from the sun, so be sure vou never look at 1t directly.

11 If the sun is directly overhead, yvou're i luck: It’s noon. If it's not noon yet, determine which direction 1s east by finding the horizon
that the sun is closest to. If it’s past noon. the sun will be closer to the western horizon.

12 Divide the sky into four sections that are about equal (the halfivay point should pass directly over vour head). Note which of those
quadrants the sun 1s 1.

13 Each of your quadrants represents about a three-hour period. If the sun’s in the first eastern quadrant, 1t’s between 6 am. and 9 am. If
it’s 1n the first western quadrant, 1t's between 3 p.m. and 6 p.m.

14 You can get closer still by estimating how far along in the quadrant the sun is. For example, halfway through the far quadrant it will be
about 7:30 am.

15 You can also tell direction using the sun. Here's how:

16 Push a stick that’s about three feet long into the ground. Pick an area that’s relatively flat and free of debris so the stick will cast a good
shadow on the ground.

17 Mark the spot where the top of the stick’s shadow falls. You can use a stone, twig. or whatever’s handy. This spot will be your marker
for west.

18 Wait about 15 minutes, then mark the tip of the stick’s shadow again (leave the original marker in place). This is vour marker for east.

19 When you draw a line connecting these two markers, you’ll have a line that runs about east to west. If vou position yvourself with the

east marker to your right and the west marker to the left, you’ll be facing north, and south will be behind you.

Glossary

curvature: the fact of being curved or the
degree to which something is curved

quadrant: each of four parts of a plane
sphere, space, or body divided by two lines at
right angles

Excerpt from "Telling Time and Location With
the sun” by Kathleen M. Reilllly, from Planet
Earth. Co Igright © 2008 bty omad Press.
Reprinte permission of Momad Press via
Copyright Clearance Center,
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Scoring Guidelines

Rationale for Option A _: This is incorrect. This sentence refers to an aspect of
early cultures, not a pr oblem with sundials.

Rationale for Option B _: This is incorrect. This sentence shows the need of early
cultures for rough diurnal and  seasonal timekeeping; sundials were created
when more precise timekeeping was needed.

Rationale for Option C : Key d Parag raph 4 states that sundials weren't perfect
becaué$agtnighttor on cl oudy daysbéusedhey coul dn't

Rationale for Option D: This is incorrect. This refers to water or burning clocks,
not sundials. Sundials did show elapsed time during sunlight hour S.

Sample Response: 1 point

Which sentence from Passage 1 explams a problem of telling time with sundials?

(A “Thousands of years ago, people didn’t care what time it was.” (paragraph 1)

(8 “But to survive, our ancestors did need to keep track of day, night, and seasons.” (paragraph 2)
@ “Atnight or on cloudy days. they didn’t work ™ (paragraph 4)

(0 = __[T]hey only showed how much time had passed ” (paragraph 5)
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Scoring Guidelines

Rationale for First Option : This is incorrect. Although this detail might fit with the

idea that clocks were unnecessary, people started to care about time once

citesgrew it hen, o0the ol d clocks were no | onger g
they were inaccurate, unshared and faulty.

Rationale f or Second Option : This is incorrect. Although this detail might fit with
the idea that clocks were not good enough if people needed to keep track of
longer periods of time, people started to care about time once cities grew
then, o0the ol d olgeak sgowear ee nroauglhdd because t he
inaccurate, unshared and faulty.

=]

Rationale for Third Option : This is incorrect. Although this suggests that the listed
clocks were the ones replacing those,ittishat ow
actually the shadow cl  ocks, candle clocks, oil lamp clocks, incense clocks

and water c¢clocks that owere no | onger good el
oneeded to be in the same place at the same
cities.

Rationale for Fourth Option : Key & This detail shows wh y clocks only worked to
show one type of time telling (the passing of time), which was not helpful for
people who were not in the same place using the same tools.

Rationale for Fifth Option : Key 8 Once people oneeded to be in the same
place at the sameti me ¢to travel and trade in cities , old clocks were 0ono
longer good enough 6.

11
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Sample Respons e: 0 points

Which two quotations from Passage 1 help explain why “the old clocks were no longer good
enough™? (paragraph 6)

| | = ..people didn’t care what time 1t was.” (paragraph 1)

“. .. our ancestors did need to keep track of day, night, and seasons.™ (paragraph 2)

| “Clocks made of candles, oil lamps, and incense sticks worked just fine without the sun . .~
(paragraph 4)

# _ _there was a problem with clocks that burned and dripped: they only showed how much

time had passed.” (paragraph 5)

|| “To be on time, you’d both have to have the same size candle and light them together.”
(paragraph 5)

Notes on Scoring

This response receives no credit (0 points). OptionD i s
correctly identified as an explanation ; however, Option B
does not explain why the old clocks were no longer useful. In
order t o receive credit for this item, both Options D and E
must be selected.

15
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Sample Response: 0 points

Select two main 1deas from Passage 1.
| | People throughout history have been able to tell the seasons by looking at the daytime sky.

| | Clocks made of candles could tell time by measuring how much wax had been burned.

< |

People needed new types of clocks as civilizations grew and trade became important.

< |

Ancient humans were hunters and gatherers who did not care what time 1t was.

|| Inancient times people invented a way to measure time using the sun.

Notes on Scoring

This response receives no credit (0 points) . Option C is
correctly identified as amaini  dea ; however , Option D is a
detail from Passage 1 rather than a main idea. Inorderto
receive credit for this item , both Options C and E must be
selected as the main ideas of the passage.

21
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Scoring Guidelines

Rationale for Option A _: Key 8 This is the meaning of "revolving" intended here.

Rationale for Option B : This is incorrect. While this is a meaning of "revolving” , it
is not the meaning intended here.

Rationale for Option C : This is incorrect. While this is indicated by the earth
always being in motion, it does not mean "revolving"

Rationale for Option D: This is incorrect. While this is indicated by the earth
"turning on its axis" , it does not mean "revolving"

Sample Respo nse: 1 point

Read this sentence from Passage 2.

“The earth 1s always in motion around the sun, turning on its axis and revolving in its orbit around
the sun * (paragraph 8)

What does revolving mean as 1t 1s used 1 this sentence?
@ moving around a central point

(B repeating again and again

(€ turning around quickly

(0 tilting to one side

25
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Scoring Guidelines

Rationale for Option A _: Thisis incorrect. Athough t he word Osustainé
Opr es einsomacasesthew ord oOsustaind mearpedDs,ahtebdod
which is evident from the context clues in the sentence.

Rationale for Option B : Thisisincorrect. Al t hough the word Osustai.l
Opr oMmesOmecasesthew ord Osustaind meawrpeosehtend o
which is evident from the context clues in the sentence.

Rationale for OptionC :Key dThe word oOsustai nwhiclmeans oOsuff
evident from the context clues in the sentence.

Rationale for Option D: Thisisincorrectt Al t hough the word oO0Osustai
O0SuUpp,onrsdame casesthew ord o0sustaind mearnpebsahtebnd
which is evident from the context clues in the sentence.

o

Sample Response: 1 point

Read this sentence from paragraph 10.

“Studies have found that your eyes can sustain damage from the sun. so be sure you never look at it
directly.”

What does sustain mean as used in the sentence?

(A preserve

8 prove
® suffer
(0 support

29
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Scoring Guidelines

Rationale for Option A _: This is incorrect. Passage 2 mentions the relationship
between the earth revolving and its  orbit around the sun, but it does not
discuss marking the seasons with it.

Rationale for Option B : This is incorrect. Passage 2 does not suggest that
sundials were used to determine direction.

Rationale for Option C : This isincorrect. Passage 2 does not explain how the
first clocks were developed.

Rationale for Option D: Key 0 Passage 2 explains that the first sundials that
were accurate took in  to account the curvature of the earth when measuring
shadows.

Sample Response: 1 point

Read these sentences from Passage 2.

“Just poking a stick into the ground and examining 1ts shadow can’t give you an accurate time of
day. The first sundials that were accurate used an angled piece of wood to account for the curvature
of the earth ™ (paragraph 8)

How do these sentences add to the description of the first sundials in paragraph 3 of Passage 17

(A by showing how sundials used the sun to mark the seasons

(8 by discussing how special sundials are used to figure out direction

(€ by explaining how sundials led to the development of modern clocks

@ by describing how sundials were developed to measure time more accurately

33
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Scoring Guidelines

Rationale for Option A _: This is incorrect. Passage 1 is not structured around an
explanation. Passage 2 does not follow a problem/solution structure.

Rationale for Option B : This is incorrect. Passage 1 describes different methods
but is not structured as comp  arison/contrast of the methods. =~ Passage 2 is not
structured this way.

Rationale for Option C : Key & Passage 1 discusses time keeping in a rough
chronological fashio n. Passage 2 provides steps for estimating time using the
sun.

Rationale for Option D: This is incorrect. Passage 1 introduces a problem, but it
does not structure the passage a  round problem/solution. Passage 2 does not
follow a cause/effect structure.

Sample Response: 1 point

How 15 the structure of Passage 1 different from the structure of Passage 27

(A Passage 1 explains how time is measured; Passage 2 introduces a problem, then gives several
different solutions.

(8 Passage 1 compares and contrasts ways of keeping time; Passage 2 asks a question about
clocks, then gives several possible answers.

@ Passage 1 describes ways of keeping time as they developed in history; Passage 2 provides
steps for estimating time and direction using the sun.

(0 Passage 1 states a problem with measuring time and gives several solutions; Passage 2
introduces a cause, then gives several possible reasons for it.

37
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Points Possible: 10

Content Strand: Expository

Content Standard : Write informative/explanator
topic and convey ideas and information clearly.

y texts to examine a

Score Points Earned by Dimension

Score Point(s) Purpose, Focus, Evidence and Conventions of
Earned and Organization Elaboration Standard English
4 1.11% 0.97% N/A
3 11.73% 7.1% N/A
2 49.53% 44.99% 67.22%
1 29.87% 38.66% 27.98%
0 7.76% 8.28% 4.8%
Total Score Points Earned
0 1 2 3 4 5 6 7 8 9 10
4.33% | 2.18% | 2.56% | 16.89% | 13.24% | 13.65% | 34.05% | 5.56% | 6.39% | 0.22% | 0.93%

41







Score Purpose, Focus, and Organization Evidence and Elaboration Conventions of Standard English
(4-points) (4-points) (2-points)

2 The response is somewhat sustained within the The response provides uneven, cursory The response demonstrates an adequate
purpose, audience, and task but may include support/evidence for the controlling idea or main idea command of basic conventions. The response may
loosely related or extraneous material; and it may that includes ineffective use of sources, facts, and include the following:
have m._ no._ia___.sm idea with an inconsistent details. The response includes most of the following: = Some minor errors in usage, but no patterns of
organizational structure. The response may +  Weakly integrated evidence from sources and erratic errors
include the following: :

6 orirrelevant references = Adequate use of punctuation, capitalization,

*  Apartially focused controlling idea, but « Repetitive or ineffective use of elaborative sentence formation, and spelling

insufficiently sustained or unclear techniques
. __zno:m_.ﬂ.mﬂ use of transitional strategies with «  Imprecise or simplistic expression of ideas

little variety + Inappropriate or ineffective domain-specific
+  Uneven progression of ideas from beginning to vocabulary

end and may include an inadequate + Sentences possibly limited to simple constructions

introduction or conclusion

1 The response is related to the topic but may The response provides minimal support/ evidence for the | The response demonstrates a partial command
demonstrate little awareness of the purpose, controlling idea or main idea, including little use of of basic conventions. The response may include
audience, and task; and it may have a limited sources, facts, and details. The response may include the the following:
controlling idea or discernible organizational following: - Various errors in usage
structure. The response may include the following: | =  Minimal, erroneous, or irrelevant evidence or * Inconsistent use of correct punctuation,
= Confusing or ambiguous ideas citations from the source material capitalization, sentence formation, and spe
*  Frequent extraneous ideas impeding *  Expression of ideas that is vague, lacks clarity, or is

understanding confusing
*  Few transitional strategies *  Limited or inappropriate language or domain-specific
. Too brief to demonstrate knowledge of focus vocabulary
or organization *  Sentences limited to simple constructions
0 The response is unrelated to the topic and The response provides no support/evidence related to a The response demonstrates a lack of command

displays little awareness of the purpose, audience
and/or task. There is no controlling idea and it has
no focus or discernible organizational structure.
The response may:

*  Be blank or show a written refusal to answer

* Be presented in a language other than English
+ Include only a restatement of the stem

*  Consist of random keystroke characters

* Include only bulleted points

* Include no transitional strategies

main idea and includes no use of sources, facts or
details. The response may include:

*  Only direct copy of part of the reading selection
* No citations from the source material

* No relevant domain-specific vocabulary

* No evidence from the support material(s)

of conventions, with frequent and severe errors
often obscuring meaning.
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